oood

OO0 RLCOODOOUOOR=5Q0L=2HO0C=05F0000¢t=000000SO0000000O0
E=12V000000000000000OO0 «(t)y0000O0O

S L R
O_(vm_/\/\/\/i
T i)
oo

000000000 «(¢x) 0000000000000 00O00 ¢gt) 000000000 ODOOUOO
obooooobooooooboon

di(t) ooy, 4t) _

0000000000000 0000000000000000000OOd) =dg(t)/dt0DOOO0O
000000 ¢t) 00000000000 Uoooo

dq(t) | da(t) | qt) dq(t) | _dq(t)
w Ryt o TE o iy eyt =12

000 ¢(+) 0000 () 000000000000000000

L

L

2qs(t) =12 — qi(t)=6C
obooobOobooooobobooooobooooooboonoo

d2qt (t) dqt (t)
5
dt + dt

000000000 ¢()=Ae™ 0000000000000

2 +2¢:(t) =0
2m? +5m+2=2m+1)(m+2) =0
D000000Om=-1/2,-20000000¢() 00000000000
q:(t) = Aje M2 4 Age 2t
D00000g¢(#) 00000
q(t) = q.(t) + q(t) =6 + Aje /% 4 Aye™2
000000 i(+) 00000000000

it) = dq;it):—%e—tﬂ

t=00 ¢0)=00i(0)=0000000000000

— 2A2€_2t

Ay

i(0)=~"—24,=0

O00000A; =-804,=200000000004(¢) 00000000000

A
i(t) = —71@_”2 —2A5e7 % =4 (e_t/2 - e_zt) A



